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Note : i) Q. 6 is compulsory.
i) FromQ.1 to Q.5 attempt any three.

\
mggw A'.darks : 60
~

iii)  Figures to the right indicate full marks.

" Q.1 a) Define 'Business Cycles'". Discuss various phases of business cycle. 8
b) Given the following data. Calculate
1) GNP
2)  NNP at market price and
3) NNP at factor cost. 5
GNP =Rs. 7000 corers.
Depreciation = Rs. 450 corers.
Net foreign income = Rs. 1000 corers.
Indirecttaxes = Rs. 500 corers.
Subsidieé = Rs. 275 corers. v
¢) Define the following concepts : 2
1) National Income
2) Disposable income
3) Per capita income.
Q2 A). "~ What is monetary policy? What are the objective of monetary policy. 5
B) Discuss various instruments in monetary policy. 10
Q3 A) Explain with help of the diagram equilibrium exchange rate concept ? 8
B) Explain fixed exchange rate system along with its advantages ? 7
-Q4 a) Explain in brief the impact of globalisation on -agriculture and industry. 8
: b) Explain advantages.and limitations of foreign direct investment. 7
Q5  Write short notes on (any three) 15

a)
b)

Product method
NAFTA



Q.6

EMPLOYMENT
Jobs Bill a direct attack
on unemployment
In 100.000
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| More jobs can be created
through farm reforms

The Economics Survey called

for increasing links between
agriculture and rural industri-
alisation, raising of the credit
flow to the small-scale sector,
opening up of the retail trade to
foreign investment and greater
value addition in the farm sec-
tor to create more jobs.

Reiterating the UPA's commit-
ment to employment genera-
tion, the survey said the Na-
tional Rural Employment Guar-
antee Bill was the govemnment's
direct attack on unemployment.

It said the number of regis-
tered job- seekers in the 947
employment exchanges de-
clined by 0.78 per cent to 40.8
million at the end of September
2004 from 41.1 million in Feb-
ruary 2004.

The employment exchanges
made 103,000 placements dur-
ing the period against 212,000
vacancies that were notified.

The placement was maximum
in Gujarat, while Maharashtra
recorded the highest number of
registrations, the survey said.

According to the survey, there
was large- scale inter-state
differentials in employment be-
tween 1993-1994 and 1999-
2000. Haryana and Gujarat re-
corded the highest growth in
employment, while West Ben-
gal and Kerala the least growth.

The survey said the near-
stagnation of jobs in agriculture
in 1994-2000 had pushed em-
ployment growth in this sector
down to 1.07 per cent a year .
from 2.7 per cent a year in
1983-1994. This also led to the
share of agriculture in total
employment drop to 57 per cent -
in 1999-2000 from 60 per cent
in 1993-1994. The organised
sector a accounts for only 7-8
cent (27.2 million) of the total
work force.

1) Analyse the above mentioned case and suggest more measures to improve
employment opportunities in India.

2) Inthe Iight of globalisation how will you improve stagnation of jobs in agriculture.
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